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April 14, 2009


1. Consider the circuit drawn below.  The capacitor is uncharged when the switch is thrown connecting the 3 k( resistor to the battery.  

A. What is the charge on the 2 mF capacitor a long time afterward?  

B. How much time does it take for the capacitor to acquire three-quarters as much charge?

C. After the capacitor is fully charged, the switch is thrown disconnecting it from the battery and connecting it to the 2 k( resistor.  How long does it take for the capacitor to lose two-thirds of its charge? 








2. Calculate the current going through the 4 k( and 2 k( resistors in the circuit below. 














3. Determine the current flowing through the 2.0-kΩ resistor and the 1.5-kΩ resistor. Show work.  
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4. Determine the current through and the voltage across the 2.05-kΩ and 3.4-kΩ resistors.
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5. Determine the time constant for the circuit below when it is charging.  Explain.  Determine the time constant for the circuit below when it is discharging. Explain.  
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